


 
   Its (§1)………..                    they(§3)………………… 

B- Mastery of Language :( 12pts) 

1- Find in the text:  (1pt) 
a- Words closest in meaning to:     

- point of view (§ 1)………..                                         - The largest part (§ 3)…………….. 
b- Words opposite in meaning to: (1pt)- causes (§3 ) ………                     - decrease (§ 3)………….. 
2- Choose the best answer from the words in brackets. (2pts) 
a- The climate is changing …………………..( dramatic/dramatically) 
b- The sea level is rising ……………………( slow/slowly) 
c- The global warming is a……………… phenomenon.( dangerous/ dangerously) 
d- He reported his findings…………….( happy/happily)  
3-Rewrite sentence b so that it means the same as sentence a (3pts) 
a- He said: “The consequences of the global warming are dangerous.” 
b- He said ………………………………………………………………………………………………… 

a- He asked: “What can you say about the problem of climate change?”  
b- He asked me ……………………………………………………. 

a- He asked: “Is global warming a natural event?”  
b- He asked me ……………………………………………………………………. 
4-Classify the following words according to the pronunciation of their final “s” ( 2pts)  
                             Consequences – results- temperatures- fuels 

/s/ /z/ /iz/ 

…………………. 
…………………. 

………………… 
……………………… 

…………………… 
……………………. 

 

 
 

        5. Reorder the following sentences to make a coherent paragraph.   (3pts) 
a. that are released in the atmosphere. 
b. the greenhouse gases such as CO2 and Methane 
c. the planet will become warmer 
d. Global warming refers to the increase of Earth's temperature because of 
e. With more heat trapped on Earth, 

…………………………………………………………………… 
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